Midterm 2

Business Finance, Spring 2007

Instructor: Nina Baranchuk

b
1.
The hypothesis that market prices reflect all available information of every kind is called _____ form efficiency.


a.
open


b.
strong


c.
semi-strong


d.
weak


e.
stable

b
2.
To convince investors to accept greater volatility in the annual rate of return on an investment, you must:


a.
decrease the risk premium.


b.
increase the risk premium.


c.
decrease the expected rate of return.


d.
decrease the risk-free rate of return.


e.
increase the risk-free rate of return.

c
3.
Financial markets fluctuate daily because they:


a.
are inefficient.


b.
slowly react to new information.


c.
are continually reacting to new information.


d.
offer tremendous arbitrage opportunities.


e.
only reflect historical information.

b
4.
The percentage of a portfolio’s total value invested in a particular asset is called that asset’s:


a.
portfolio return.


b.
portfolio weight.


c.
portfolio risk.


d.
rate of return.


e.
investment value.

e
5.
The principle of diversification tells us that:


a.
concentrating an investment in two or three large stocks will eliminate all of your risk.


b.
concentrating an investment in three companies all within the same industry will greatly reduce your overall risk.


c.
spreading an investment across five diverse companies will not lower your overall risk at all.


d.
spreading an investment across many diverse assets will eliminate all of the risk.


e.
spreading an investment across many diverse assets will eliminate some of the risk.

e
6.
The weighted average of the firm’s costs of equity, preferred stock, and aftertax debt is 



the:


a.
reward to risk ratio for the firm.


b.
expected capital gains yield for the stock.


c.
expected capital gains yield for the firm.


d.
portfolio beta for the firm.


e.
weighted average cost of capital (WACC).

c
7.
You recently purchased a stock that is expected to earn 12 percent in a booming economy, 8 percent in a normal economy and lose 5 percent in a recessionary economy. There is a 15 percent probability of a boom, a 75 percent chance of a normal economy, and a 10 percent chance of a recession. What is your expected rate of return on this stock?


a.
5.00 percent


b.
6.45 percent


c.
7.30 percent


d.
7.65 percent


e.
8.30 percent

Answer: E[R] = 0.12*0.15 + 0.08*0.75 + 0.02*0.1 = 0.073
a
8.
The rate of return on the common stock of Flowers by Flo is expected to be 14 percent in a boom economy, 8 percent in a normal economy, and only 2 percent in a recessionary economy. The probabilities of these economic states are 20 percent for a boom, 70 percent for a normal economy, and 10 percent for a recession. What is the variance of the returns on the common stock of Flowers by Flo?


a.
.001044


b.
.001280


c.
.001863


d.
.002001


e.
.002471

Answer:  E[R] = 0.14*0.2 + 0.08*0.7 + 0.02*0.1 = 0.086;  


Var(R) = 0.2*(0.14-0.086)2 + 0.7*(0.08-0.086)2 + 0.1*(0.02-0.086)2 = 0.001044
c
9.
What is the expected return on a portfolio comprised of $3,000 in stock K and $5,000 in stock L if the economy is normal?





State of 
Probability of

Returns if State Occurs





Economy
State of Economy
Stock K            Stock L




Boom

        20%

  14%
    
   10%





Normal 
        80%

    5%
   
     6%


a.
3.75 percent


b.
5.25 percent


c.
5.63 percent


d.
5.88 percent


e.
6.80 percent

Answer:  R = 0.05*(3/8) + 0.06*(5/8) = 0.0563
b
10.
Shirley’s and Son have a debt-equity ratio of .60 and a tax rate of 35 percent. The firm 



does not issue preferred stock. The cost of equity is 10 percent and the pre-tax cost of 



debt is 8 percent. What is Shirley’s weighted average cost of capital?


a.
6.1 percent


b.
8.2 percent


c.
8.4 percent


d.
9.1 percent


e.
9.4 percent

Answer:  WACC = (0.6/1.6)*0.08*(1-0.035) + (1/1.6)*0.1 = 0.082

b
11.
What is the variance of a portfolio consisting of $3,500 in stock G and $6,500 in stock H.





State of 
Probability of

Returns if State Occurs





Economy
State of Economy
  Stock G          Stock H




Boom

        15%

   15%
    
    9%





Normal 
        85%

     8%
   
    6%


a.
.000209


b.
.000247


c.
.002098


d.
.037026


e.
.073600

Answer:  Return on the portfolio in the Boom state is 0.15*0.35 + 0.09*0.65 = 0.111;  return on the portfolio in the Normal state is 0.08*0.35 + 0.06*0.65 = 0.067.  The expected return on the portfolio is  0.111*0.15 + 0.067*0.85 = 0.0736.  Thus, the variance is: 0.15*(0.111-0.0736)2 + 0.85*(0.067-0.0736)2 = 0.000247
d
12.
Your portfolio is comprised of 30 percent of stock X, 50 percent of stock Y, and 20 percent of stock Z. Stock X has a beta of .64, stock Y has a beta of 1.48, and stock Z has a beta of 1.04. What is the beta of your portfolio?

        a.
1.01


b.
1.05


c.
1.09


d.
1.14


e.
1.18

Answer:   beta = 0.3*0.64 + 0.5*1.48 + 0.2*1.04 = 1.14
d
13.
The stock of Big Joe’s has a beta a 1.14 and an expected return of 11.6 percent. The 



risk-free rate of return is 4 percent. What is the expected return on the market?


a.
7.60 percent


b.
8.04 percent


c.
9.33 percent


d.
10.67 percent


e.
12.16 percent

Answer:  E[RM] = (0.116 –0.04)/1.14 + 0.04 = 0.1067
b
14.
Watson’s Automotive has a bond issue outstanding with par value of $400,000 that is 


selling at 102 % of par. Watson’s also has 4,500 shares of preferred stock and 21,000 



shares of common stock outstanding. The preferred stock has a market price of $44 a 



share compared to a price of $21 a share for the common stock. What is the weight of 



the debt as it relates to the firm’s weighted average cost of capital?


a.
38 percent


b.
39 percent


c.
40 percent


d.
41 percent


e.
42 percent
Answer:  wD = (400,000*102)  / (400,000*102 + 4,500*44 + 21,000*21) = 0.39
d
15.
You currently own 500 shares in K&S Stores. K&S is currently an all equity firm that has 25,000 shares of stock outstanding at a market price of $10 a share. The company’s earnings before interest and taxes is $20,000. K&S has decided to issue $150,000 of debt at a 6 percent rate of interest. This $150,000 will be used to repurchase shares of stock. How many shares of K&S stock must you sell to unlever your position if you can loan out funds at a 6 percent rate of interest?


a.
150 shares


b.
200 shares


c.
250 shares


d.
300 shares


e.
500 shares

